F20mALBEFTFEENIKRR—ILEFIERE HHEaHE

RIEAEDHYE
|
10
8A 8B
4A 3A 3B
1A
AL AL 3 g% 3 ;% 3 AL
% % P a & = & i
= B = : * o = B
2 5 & A & A & N
5A 6B
ZIEHEDE
|
OA
7A 7B
2A 2B 1B
Al
% AL
Al AL ] E = " 3
% % & 2 &
. o E _ & = =
a 5 @ e
= 5 & = a &
I -~
1t
| 5B

9B




FE20EILBERFEENSFR—ILEFERR
mEAA LT—T I

1A10B(X) FER Ad—Fk Ba—k
X 9:00 &=
_ BL S e | ALIR S
: T — ALIRE B -
2 1150 1@$§' *L'I'EH%EY Lﬁﬁﬁﬁf*ﬁ 'EEIJ:": EﬁEE
_ 2% | #lig ez | ALIR ]
_ _ 1AR: _ —
4| 1430 | 2T |nmEn fLIRAE WAEE
: 2[E] 8 - =
1AE — _ 3AE|2AE — _ 2BE
5| 15:40 T
3B& _ _ 4BE&
6| 16:20 ,S;&% £F HIRAENALEE
1118 ((%®) FER Ad—hk Ba—k
— _ 2ABE|2BiF — _ 1B
. ZF g
7 9:00 5 55 IRAE
AARE _ — 3ARs| 3B _ — 4B
. Br
81 1020 | s
7AE — _ 1BE
9 11:25 | 3&5RE TFRBDT VT
7 A _ — 7B
. ZF
10| 12:15 s
SAM _ — 8B
. BF
11| 13:35 s
| 1450 S =3




